Total number of printed pages-15
3 (Sem-6/CBCS)CSC SE1/2
2022

COMPUTER SCIENCE
( Skill Enhancement Course)

Answer the Questions from any one Option.

OPTION-A
( Programming with SCILAB)
Paper : CSC-SE-6014

OPTION-B
(Android Programming)
Paper : CSC-SE-6024

Full Marks : 50

Time : Two hours

The figures in the margin indicate
SJull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
(Programming with SCILAB)
Paper CSC-SE-6014

1. Answer the following questions as directed :
(any four) 1x4=4
oo fal AR o Se o 2 (Rt
513t

(@ _____ wasused by computers during
the first generation. -

T ATTA AT 9 o
(i) Machine language

(i) Assembly language

(i) C language

(iv) None of the above

(Choose the correct option)
(e Reseht s Sfaedl)

(b) The primary memory of a personal
computer consists of

WWW«Wmemory____m
sfFe |

(i RAM only
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(i) ROM only
(i) RAM and ROM

(iv) None of the above
(Choose the correct option)

(% Rescor A S

(c In SCILAB, predefined constants are

preceded by the sign.
(Fill in the blank)

SCILAB-3 +{lR4difRe i s77el oz
- (AT A% 279 F)

(d) SCILAB is an interpreted language.
(State true or false)

SCILAB ¢! interpreted ¥l
(% 1 o7 )

e) In SCILAB, ____function generates
an identity matrix. (Fill in the blank)

@51 identity matrix es® I/ SCILAB®
A SRl (AT IR 77T 7
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( The statement allows to
interrupt a loop.

Loop oI SRAN IR ______ statement
@ ot M)

(i) For

(i) While

(iii) Break

(iv) None of the above

(Choose the correct option)
(3 Rewes! b See)

(g) To define a new function, we use the
and SCILAB
keywords. (Fill in the blanks)

@Bl T TR e Rt iR

________ SCILAB keyword J3%¥ IR |
(Tt A2 o7 )

(h) The command is used to create
a nonexistent file or to open an existing

file. (Fill in the blank!

e A Rasiel Tzt <Ol Yot
o IR FE | (T 18 =31 79)
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2. Define the following terms : (any three)
2x3=6

kel ol 3 (Riewereant feiion)
(@) Machine code

(b) Select statement
(c) Function

(d) Continue

() Array

(7 Slicing operator

3. Answer any two of the following questions :
5x2=10

Ricetet gbt emg ©ed ot

(a) Write a brief description of the
components of a computer. |

FPABoRT AR b R fart

(b) List SCILAB mathematical elementary
v \ operators.
SCILAB-T ¢lidfis afifes Srma oiferdt
UTS 4|
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(c) Write SCILAB commands to create a
2 x 3 matrix of real values and perform

the following operations :

% AR 2 x 3 matrix Bt TouR A
SCILABWMWWWW
FEEw 34 |

(i) Display first row elements

o MSH TAMAER A T

(i) Display third column elements

:g@aw@ﬂmwmw

(d) Write a function to convert Fahrenheit
temperatures into Celsius.

FIEAL0 OIFNas #dl AT St
SRS TR @t TG for

(e) Write a brief description of any three
built-in functions for matrix operation.

Give example.

Matrix TFReTR @ I @A RicAren
@ﬁﬁﬂ@ﬁﬁ\a" FIHAS E‘S,{ﬁ«"! friy
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() Write a brief description of any three
built-in functions used for handling
sound files.

R BizeT ARG RIS IRAI QR R
fof5 srafiie Fioae 53 Resd fat|

4. Answer any three of the following
questions : 10x3=30

Rz fofbr e Tea fordt ¢ -

(a) Write a brief description of any five
SCILAB plot functions.

Rzl 5! SCILAB plot PReH 53 R
faat -

(b) How are complex numbers represented
in SCILAB? Explain any three
mathematical operations with complex
numbers in SCILAB.

SCILAB-® @ioel 7 (@ Hide =1t =2
SCILARB-S G5a 70 Fi9re FR] 2131 Rpiear

s sififes Faeesir i fa
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(c) Write a brief description of basic file
handling functions of SCILAB.

izeT ~{RIEW SR IR (2RI FIGNRR 5
et faml |

(d) Write a SCILAB program to draw a
graph that joins the points (0, 1), (4, 3),
(2,0) and (5, -2).

0,1), (4,3), (2,0) &% (5,-2) RFwR
AT SR A ToAR IR Bt SCILAB
caiie &

(e) Write a brief description of if, while and
for statement. Give suitable example.
if, while W< for statement-3 53 39t faat |
Toige Srzadt

() Write brief description of any five string
handling functions in SCILAB.
SCILAB- Rt «i56! string handling
FIHR 5 I ez
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(g9 What is list in SCILAB ? Write a brief
description of any four operations on
list. ‘

List ¢ List® 3R »A e 51961
ferRIom 5 3
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OPTION-B
(Android Programming)
Paper : CSC-SE-6024

1. Answer the following questions as directed :
(any four) 1x4=4

weTe i eiaRe Roriga Bes i ¢ (Rieeen
51351

(a) Android is based in Linux operating
system. (State true or false)

Android Linux Sic5R ootR fofe w1
(3% 7 q8% foh)

(b) .apk extension stands for .
(Fill in the blank)
.apk extension (X afeffeg @1
(=T 512 959 1)

(c) Intents are asynchronous.

(State true or false)

Intents@R SPERTS | (8% @ wog &)
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(d) In object oriented programming, more
importance is given to data.
(State true or false)

Object oriented programming® S Q&
%y il =) (9% 1 99% [o=0)

(el An in Java is a blueprint of a
class. (Fill in the blank)

Java'® classd afsloa == |
(AT 312 799 F9)

() All user-facing elements are defined as
XML resources. (State true or false)

FFCAIAR IR AR oA XML
T 2| (9% (7 qoF &4

(g) In Java, we create a thread by creating
a class that implements the

interface. (Fill in the blank)

Java® interface implement 3R
thread ComR 3 |

(T 3% 471 79)

Contd.
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(h) A Dialog is a ‘pop-up’ modal that
provides some additional information.
(State true or false)

wftE ©Y 2 T4 @6l ‘pop-up’ modal T
Dialog| (5% @ 99% &)

9. Define the following terms : (any three)
2x3=6

@i forat ¢ (Rewe fofis!)
(@) Inheritance

(b) Polymorphism

(c) Abstract class

(d) Thread

(e) Interfaces
H JVM

3. Answer any two of the following questions:
5x2=10

Rzt gor ome e fort 8
(a) Write a brief description of software
needed to develop Android applications.

Android application o AL A
software 3 53 3t fz!
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(b)
p]atform.

Android platfo

Explain the architectures

Explain the basic intent structure for

activity navigation.
Activity navigation 9 basic intent
structure 39! 34 |

n-6/CBCS) CSC SE 1/2/G 15

800

/2



(p) What is meant by activity ? How to
create activities ? Give example.

!
.

Activity @ & @ ? Activity (PGS (ST
<Rq ~iR e S T

(c) Explain any two types of drawable
resources.

Rzl 72 2P drawable resource I 3l
At

(d) What are dialogs ? Write the steps
required to create a dialog.

Dialog ¢ Dialog (ORI TR A7 Fre
(e) List the data types in Android SQLite.

Android SQLite ¥ data type ¥ SR TR |

4. Answer any three of the following

questions 10%3=30

fairat fof & Baq for 8

(a) Write in brief about the history of
Android.

Android @ 2a 5P sl
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(b)

(c)

(@)

Explain the architecture of the Android

platform.

Android platform 3 3j#I\} i
Differentiate overloading and overriding.
Give suitable example.

Overloading W% overriding3¥ 2114 &
Bt fm

Draw the activity lifecycle state diagram
and explain.

Activity lifecycle state diagram {3 S
¢t fat)

Explain the fundamental components
of Android.

Android 3 Glife® SifEei@iRe 3t fa

Discuss in detail about content
providers.

Content provider 3 <& Sr=AHa 34 |
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(g) Explain the basic intent structure for
activity navigation.
Activity navigation¥ basic intent
structure 3 1
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